ﬂé Rewriting Repeating Decimals Name:

Rewrite each fraction as a decimal with repeating line. Answers
11 - = 0.14285714285714284921269268124888185412
1.
2) 3/ = 0.21428571428571427381903902187332278118

14 =

3) 5/7 = 0.71428571428571430157461463750223629177

4) 5/18 =  0.27777777777777779011358916250173933804

5 '] = 163636363636363646456572951137786731124

6) 2] ,= 0.15384615384615385469402326634735800326

) 5], = 0.83333333333333337034076748750521801412

8 2/ = 0.18181818181818182322828647556839336556

9 13 = 1.85714285714285720629845855000894516706

10) %/ = 0.13333333333333333148206162562473909929
10.

1) Y7 = 0.94444444444400441977282167499652132302
11.

12) 9 = 0.64285714285714290472384391250670887530
12.

13) 0/ , = 153346153346153854604023266347358003259
13.

14) 11y ;s = 1.13333333333333330372738600999582558870
14.

15) 2 s = 153333333333333343695414896501461043954
15.

16) %/ .= 0.23076923076923078204103489952103700489
16.

17) 2/7 = 0.28571428571428569842538536249776370823
17.

18) 2] _= 1.46666666666666656304585103498538956046 .

19) 7] .= 053846153846153843501793020005792509022 o

20) %] .= 184615384615384625632827919616829603010 "
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ﬂé Rewriting Repeating Decimals

Name:

Answer Key

Rewrite each fraction as a decimal with repeating line. Answers
D) Y =  0.14285714285714284921269268124888185412 R
7 . 0.142857
2) 3] = 0.21428571428571427381903902187332278118 —
14 , 0.2142857
3) 5. = 0.71428571428571430157461463750223629177 —
7 ;5 0.714285
4) 5/18 = 0.27777777777777779011358916250173933804 =
. 0.27
5 '] = 163636363636363646456572951137786731124 153
5. .
6) 2/ = (.15384615384615385469402326634735800326
/13 . 0.153846
7) 5/6 = 0.83333333333333337034076748750521801412 —
- 0.83
8) 2 ., = 0.18181818181818182322828647556889336556 018
8. .
9 13 — 185714285714285720629845855000894516706 e
7 o 1.857142
10) % ;s = 0.13333333333333333148296162562473909929 =
o 0.13
11) ) = (0.04444444444444441977282167499652132392 —
lg= o . 0.94
12) 91 = 0.64285714285714290472384391250670887530 —
[u= 0 » 0.6428571
13) 20/ — 1 53846153846153854694023266347358003259 ——
[a= 1 s 1.538461
14) 17) —  113333333333333330372738600999582558870 =
15 1. 1.13
15 ) = 153333333333333343605414896501461043954 5
15 15, 1.53
16) 3/ = (.23076923076923078204103489952103700489 ==
[1s= o s 0.230769
17) 2] = 0.28571428571428569842538536249776370823 P
;= o - 0.285714
18) 22 5= 1.46666666666666656304585103498538956046 —~
18, 1.46
19) 7/ =  0.53846153846153843591793020095792599022 e
=0 o 0.538461
20) 241 — 1 84615384615384625632827919616829603910 5
[3= 1 o 1.846153
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